Intake Kit Installation Instructions:'96-'00 GM Trucks/SUV's V8-5.0/5.7L

Kit Part # 54-10531 Tools Required: Part List:
Make: Chevrolet/ GMC/ Cadillac 5/16” nut driver or slotted screwdriver jl air filter (replacement # 24-90015)
: ousin:
e T e L et 1 AV fitor adapter
’ . mm socket or wrench 5 Screw Hex head m6x1x12
C/K 1500/ Suburban '96-'99 V8-5.7L Fi Ratchet and extension 5 M6 washer wavy
C/K 2500/ Suburban  '96-'00 V8-5.7L Fi 1 Clamp #064
C/K 3500 '96-'00 V8-5.7L Fi 1 Clamp#072
P.0. Box 1719 Tahoe/ Yukon '96-'00 V8-5.7L Fi 1 Trim seal 3/4" bulb (32")
Corona, CA 92878 Yukon Denali '99-'00 V8-5.7L Fi 1 Grommet
Support: 951-493-7100 | Escalade '99-'01 V8-5.7L Fi 1 Coupler
www.aFefilters.com

‘ Step 1 ) N\

Dlconnect and loosen the clamp on the MAF sensor
(1). Remove the three 10mm bolts securing the air
box. Disconnect the Temp sensor located on the side
of the air box.

J

Complete stage 1 intake. Make sure all components
listed are present prior to installation.

Place housing in engine bay. Secure with the bolts Re install 7/8'mm bolt in the bottom of the housing. Place the air filter adapter in the housing. secure with Place the supplied coupler and clamps on the air fil-
ter. Secure the MAF sensor and tighten all the

Insert bolt thru the fenderwell and secure with sup- the supplied M6 bolts and washers.

removed in step 5. Rear housing tab slips in behind plied lock nut and washer.

plastic. clamps.

Step 11

Install the_thprti-oiled alir dfilt<-|>r in tge hogsing and  Place enclosed CARB EO sticker on a clean/smooth surface on or near
ngg;z c‘,’:'oil_ e supplied clamp. DO not US€ anY  the intake system. EO identification label is required in passing the Smog
Check inspection. Your installation is now complete .Make sure you tighten

all clamps and check all electrical connections. Re check periodically.

Note: Filter Cleaning and Re-oiling: When cleaning your aFe filter, be sure to use only aFe’s “Restore Kit” aFe P/N: 90-50000 gold oil aerosol, or aFe P/N: 90-50500 gold squeeze oil).
Filter Replacement: Magnum FLOW PN: 24-90015 (black w/blue media).

Loosen 10mm bolt on side of coolant reservoir.
Remove airbox bracket from inner fender panel.
Remove 10mm bolt near batter tray.

Slide the supplied grommet in the side of the hous-
ing. Install the Temp sensor.

06-80125




